Math 53 - Multivariable Calculus

Quiz # 3 Sdns.
September 15th, 2011
Exercise 1. Find the volume of the parallelepiped determined by the vectors A = (6,3,~1), B = (0,1, 2)
and € = (4,~2,5). |
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Exercise 2. Find the equation of the plane that pusses through the point (6,0, --2) and contains the line
r=4-2t, y=3-+5¢ z="T+A4t.
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Exercise 3. Defermine whether the planes x+4y — 3z =1 and -3z + 6y + 72 = 0 are pe‘r}nendwular -
parallel, or neither. If neither, find the angle between them.

0, {La-3>  Ne= 473,67

",j‘;. e S =3 +29 =21 = O

= P(MQ ore ——L—



